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Section 3.1 Extrema on an Interval 
 

 

          
 

 
 

 

 
 

 
 

 



 

 
Ex.1  Find the value of the Derivative at Relative Extrema 
 

     
 



 
 

 

 

 
 

 



Ex.2  Use calculus to find the extrema of   f x( ) = 3x4 − 4x3  on the interval  −1,2⎡⎣ ⎤⎦ . 
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Ex.3  Use calculus to find the extrema of 
  f x( ) = 2x− 3x

2
3  on the interval  −1,3⎡⎣ ⎤⎦ . 
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Ex.4  Use calculus to find the extrema of 
  f x( ) = 2sin x( )− cos 2x( )  on the interval 

 
0,2π⎡⎣ ⎤⎦ . 
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Ex.5  Decide whether each labeled point is an absolute maximum or minimum, a relative 
maximum or minimum, or neither.  
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